H & 0l & AHS B Ml A

20258 =0ilah LESIH A= 0t

M SAIHE D
F: TADNY

SRl TAIZZ Y TAZeIHE THEH (SH9 H2)
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
A= 2,185,038 1,614,133 570,905
= 1,700,000
Al 485,038
ENP 2,066,041 1,491,503 574,538
= 1,700,000
Al 366,041
CAIE2 & ZAIZCIAHIE THEHI 2,066,041 1,491,503 574,538
& 1,700,000
Al 366,041
CAZe = = 132,181 767,683 A635,502
201 Let=d] 123,741 58,163 65,578
01 At2teltl 22,651 23,287 A\636
OS=Mak D20l (HE 288t == 8
700,000 22 1,400
OUs=E ZAIHEES JH|
651,0002 %12 651
OZAAEARZ 284
100,000 »12E «62] 7,200
OZAIAE =3 2E=E
100,000 62 x102] 6,000
OFAHE 52 28+E
100,000 x 14 *23] 2,800
Od&IIeN=EREs 2d8+E
100,000 8 *32] 2,400
OSahlsktzd 28+¢
100,000& %10 1,000
OFAIZZAHE G20 A2SE 72
120,000& %102 1,200
2 S52g4l 101,090 34,876 66,214
OEXOIBHEEOIN L2 T2Y A2y 4t
SHl=IH| 400,000& %12 400
OEXNHGHEI SW X2l
690,0002 %12 690
O=E0I2HLSEEASKLIP) FA2E
100,000,000 12 100,000
202 04| 4,440 5,520 1,080
01 2LHoIH 4,440 5,520 /1,080
O AlZe|HE =2 3o &4 o]
60,0002 x3&*32] 540
OFAlZ2I A& &2lg &4 0]
60,0002 x3E 32| 540
O=EHI3E 250 OE £& ol
60,0002 x2& x33] 360
OZADHEAIY B2 2 228 0l
60,0002 x32*x22 x32| 1,080
OFAEH g2 =40 HE &8 ol
60,0002 *3 *2 & *42| 1,440




SA TAIHED
M SADHY
elr SAIZZ 2 SAIZelHE A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZANE DS 50 B2 53 Ol
60,0003 x2Z 22 +23] 480
203 =] 4,000 4,000
03 A=A PR FA| 4,000 4,000
OZADHE g2 4,000,000 14] 4,000
Z2Edst 24 233,860 123,820 110,040
201 2= 80,420 69,900 10,520
01 At22t2l] 11,900 27,300 A15,400
OZSAS 2Yag
100,000 x15E +52] 7,500
OZZUN 9IRs SH4+g
100,000 x102+33] 3,000
O%dz g2 =4 MNRES 78
140,000& * 102 1,400
2 S52g4l 68,520 42,600 25,920
OooRtgd2t 882= S
5,710,000& «12& 68,520
202 04l 1,440 1,920 A480
01 =LHAHI 1,440 1,920 A480
OZ&2dst S gFFL =LY
60,0002 x2EH *x2 2 *43] 960
OSsLAR! FRFE =L 0|
60,0002 x2E*x2 2 +23] 480
203 HR=&H] 2,000 2,000
03 A=A R =AH] 2,000 2,000
Og2 & S30IAe g2FA
2,000,000 %14 2,000
401 AIEHIX R0 150,000 50,000 100,000
01 A28l 150,000 50,000 100,000
OSd ortgdat Alid2 | 22
150,000,000& *13] 150,000
ST 022 AFYG(HEALY) 1,700,000 600,000 1,100,000
< 1,700,000
401 AIZHIX S0HH 1,700,000 600,000 1,100,000
=S 1,700,000
01 Al&H| 1,700,000 600,000 1,100,000
OSHE otz AL (AE 16 DA
&) 1,700,000,000& » 14 1,700,000
= 1,700,000
HH2IBHI(ZAIHE D) 118,997 122,630 23,633
elIE =g 60,228 57,048 3,180
olE =gl 60,228 57,048 3,180
101 212A4H| 60,228 57,048 3,180
01 2= 60,228 57,048 3,180




S ZSAAE D
A HYRAZHI(ZAIHELDL)
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEFEE S,
11,9502 * 142 +30A| 2+ 123 60,228
Jl=23H| 58,769 65,582 6,813
Jl=23H] 58,769 65,582 26,813
201 fet=2 3| 25,569 26,742 A1,173
01 AtR2t2|HI 25,252 26,526 A1,274
OFAEH g2F4 A2sSE 7Y
300,000& *132 3,900
OZAIEH g2 SAEA Y
27,0003 * 138 Ax23] 702
OJlzge=d Sl
9,0003x13H 5« 123 7,020
OZet=AD] ERtE 700,000+ 12 8,400
OZAIAEL 40| ez
120,000& *42] 480
OFALI=EA 28 423 7
160,000 %102 1,600
OFALRI=EA SAD] EH 78
180,000 %02 1,620
ONEHEY = 1,530
N 250,000 2 500
—ul i MI& 19,0003 50 950
—ANRES S 78 80,0002 *12] 80
02 s3=gHl 317 216 101
OZAIAH=L BHEH pc SRS
26,4002~ 12 317
202 04l 25,200 30,240 /5,040
01 2LHoIH 25,200 30,240 /5,040
OJl22HEE 0l
140,000 « 15 *12& 25,200
203 2=l 8,000 8,600 A600
01 D[22 HI S| 4,400 4,400 0
OZAItIARI =& 4,400,000 *1&H 4,400
M EASHLRFAH 3,600 4,200 2600
ORNSgERF=AHI
300,000& * 122 3,600




